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Instructions:
1. Attempt all questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. English version is considered to be Authentic.
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Answer any seven out of ten.

Define microprocessor and machine cycle

Write the importance of ALE signal

Give the meanings of Rs,Rd,data8 and M

List the steps of memory read operation.

Write the symbolic representation for instruction ANA R/M and ORA R/M
Explain LXI instruction with example

List out the steps performed by processor when interrupt occurs.
List the various segment registers of 8086 microprocessor

Give the full forms of EI,PSW,ISR and RIM

What is bus? Name the three buses used in microprocessor

Give the examples of one, two and three bytes instructions

OR
Draw the flow chart of time delay loop and write the delay routine for 1ms
Differentiate the LDA and LDAX instruction

OR
Explain SIM
Draw neat and clean 8085 pin diagram
OR

Explain instruction pipelining in 8086 microprocessor
List the addressing modes of 8085 pup and explain any one in detail
OR
Write an assembly language program to logical OR the two numbers stored in
memory location and store the result again in memory location.

Explain rotate through carry instructions
OR
Write an assembly language program to convert given decimal digit into its
equivalent ASCII.
Define instruction, addressing modes and T-state
OR
Differentiate STA and STAX instruction.
Explain Stack and subroutines in 8085 pup.

OR
Explain the flag registers of 8085 up.
Explain unconditional Jump instructions.

OR
Explain RST instructions in 8085 up.

Write the symbolic representations for unconditional CALL and RET
instructions.
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Write and assembly language program to add two 8-bit data values stored in

different registers.
Explain DAA instruction.

OR
Explain increment and decrement instructions.
Explain 8086 pp architecture.

Explain 8085 pp interrupts.
Explain Move instructions.

What is polling? Give its drawback.
Explain logical XOR instructions
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